J¥5 | AR PRUEAE S AN 2 S 95
1 B KA | 0.103%, Uwe=3%, k=2 GBW(E)1305
2 IK A EAR R AR EYI B | 100 pg/mL, Uwi=1%, k=2 | GBW(E)0825
3 KA GRS BT ARE R | 1000 pg/mL, Urei=1%, k=2 | GBW(E)0825
4 BN TG 3R ISR A 100 pg/mL, Uwe=1%, k=2 | GBW(E)0825
5 BRI RbR HEA) o 100 pg/mL, Ur=1%, k=2 | GBW(E)0825
6 ¥ F & (CODer) FifE | 100 mg/L, Ure=2%, k=2 GBW(E)0825
7 KRR AT AR | 100 mg/L, Urei=1%, k=2 GBW(E)0825
8 FE i e I ] v VAR DR | 5.0 pg/mL, Urei=4.0%, k=2 | GBW(E)
9 R o LI RS AR E I | 200 pg/mL, Uri=2%, k=2 | GBW(E)0907
10 BEFR LR IR AEY) i 100 pg/mL, Uw=1%, k=2 | GBW(E)0825
11 B B0 R IR R HER I 100 pg/mL, Ur=0.8%, k=2 | GBW(E)0825
12 L TS (R i I 100 pg/mL, Ur=0.8%, k=2 | GBW(E)0830
13 i B G R IR R HEA 100 pg/mL, Ur=1%, k=2 | GBW(E)0830
14 U R IR ) IR 100 pg/mL, Uw=1%, k=2 | GBW(E)0830
15 B B SRV U AE ) o 100 pg/mL, Uw=1%, k=2 | GBW(E)0830
16 T o (1o.£)~1ooz><10-6 mol/mol, | GBW(E)0622
Urei=2%, k=2 37
17 b UL bR R (10(3~5000_)><10-6 mol/mol, | GBW(E)0622
Urei=2%, k=2 38
18 | BTSRRI R 8?3;5022406 movmel, | SBW(E0622
19 0.50 pg/mL, Uri=1%, k=2 | GBW(E)1306
20 &P S g - i | 1.00 pg/mL, Ure=1%, k=2 GBW(E)1306
21 PRUEVIR (Cu) 3.00 pg/mL, Uwe=1%, k=2 | GBW(E)1306
22 5.00 pg/mL, Uw=1%, k=2 | GBW(E)1306
23 0.50 ng/mL, Uwi=2%, k=2 | GBW(E)1306
24 JE I 4 e e g Ry 2 i | 1.00 ng/mL, Ur=2%, k=2 GBW(E)1306
25 FrAEPIBT (Cd) 3.00 ng/mL, Urwi=2%, k=2 | GBW(E)1306
26 5.00 ng/mL, Ure=2%, k=2 | GBW(E)1306
97 JE IR 4 s TR 2 B | 5.00 mg/mL, Uwe=2%, k=2 | GBW(E)1306
bradEYIE  (NaCl) 09
28 KFEE TR HEY)f | 1000 pg/mL, Urei=1%, k=2 | GBW(E)0832
29 KRBT bs Y | 1000 pg/mL, Uei=1%, k=2 | GBW(E)0832
30 KRS R R B T IS AR EY) | 1000 pg/mL, Urei=1%, k=2 | GBW(E)0832
31 IK PR R AR B 1A VbR MEY) | 1000 pg/mL, Urei=1%, k=2 | GBW(E)0832
32 FR it ZE VbR HE ) I 1.00<10, Uri=3%, k=2 GBW(E)1305




JFg | AR P AR S AN A8 S 95

33 P b 25 VA bR HE Y TR 1.00%107, Uri=3%, k=2 GBW(E)1306
pa e gy (100 ~  10.0x10%)x10° | GBW(E)0624
7 y 7 pii

34| B AR mol/mol, Uri=2%, k=2 21

~ -6
rel=£70, =

36 2R — AR SR FRAEY) | (10.0 ~  10.0<10%) <10 | GBW(E)0624

Ji mol/mol, Uri=2%, k=2 23




